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And they should teach them that by coercion it is permitted

OVERVIEW

The &3 explained the Xn>72 (which stated that 71007 nywn it was customary to be
married on Tuesday) that the 7100 was that the m¥1% would rather die than be v21
by the 137, The X773 asked why is there a 7120; we should teach the myix that if
one is threatened with death (to do an 77°2Y), as by the case of the A7, it is
permitted to transgress the 772y, so there will be no 7150.> Our Mo discusses
how we can say 7% 01 in a case of forbidden relationships.

nvoIN asks:
= 2919 DN) 913y 7922 D3 DY (0w x,19 paTmio) 1991 9910 12 7992 129N NN 9NN ON)

And if you will say; but the X713 states in 79121 9919 32 P98, ‘for all sins a person

should rather transgress them and not allow himself to be killed -
= 309097 N2AWI NYIY N 022915 NIV \IN

Except for idolatry, illicit relationships, and murder where one should allow himself
to be killed rather than transgress any of these three m772y.

Mo0IN answers:
- 55989 NYYA YY AN P21 PNT BN 13939 Y

And the n''v answered; that a married woman is not obligated to sacrifice her

life on account of relationships with a(n Egyptian) gentile -
= DHNIT DYOID ENNIT 05 oxpin) 72999 9819 619V NIIPAN NINNIY

For the Merciful one discarded the seed of a a3» as it is written, ‘and their

!'"This m20n should be after the following 72102 7"7 '0In.
2 This is (seemingly) how moon understood the question of W oNR7T 312 W77, However >"wA in w7 7'7
explains that *w means they are permitted to their husbands since they were 01182 19¥21. See footnote # 14.
3 The question on the X3 is how can we say that the women are permitted to be 721 by the 11237 since it is an 01X,
but this (seemingly) is a case of Ny *19°3, where the ruling is 723> X1 27 that it is forbidden to transgress it, even if
by refusing to transgress the 77°2¥, one will be put to death.
4 In the 2"mn it reads; 191 ¥ 702 aws1 Non? N2 ArXT. Alternately, a married woman is not n°» 217 if she was
marn willingly with a "3 and therefore it is not considered N1y 12°3 where the rule is 123> 2R1 277 (See Y17 *19).
5 The rule of 72v> Y% 317> by My 2% is only with illicit relationships with Jews, but not with gentiles. There the
rule remains 317> 9X1 123> (even though she is an w°X NWR).
6 R,M¥ NN,
" The two 2°?109 in YRPIM read; MW WK DY DY A2IVA1 D .28 YIND AN WK 7201 00 DX T377 °DRA DR 72701 0
oppIr 2°090 Np7r) 003 oing. This may explain why N1901n mentions »%», when he really means all the gentiles.
8 This refers to the flow of their seed. And even though one is 10 27 for relations with an animal; however that is
not Ny *17° for it applies even to an unmarried woman (see w"w").
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flow is the flow of horses’

mooin offers a proof that 72y 981 37> does not apply to N1y »2°x with gentiles:
= NN NYDNID MNON NN (3,00) NI 9990 )2 7992 9997 NN YN

And the n"7 brings a proof, for the X773 in 7917 9910 12 P99 asks, but "noX was

public knowledge -
= 1082991913 YN RD NHIY DIVNT ¥HWMN NN NIY 1) ANON XN 799 XD

But the X3 did not ask, but by 2noR it was n1p %3 (where the rule is X1 37
72y°), so how was she permitted to be with w1mwnR), this indicates that she would

not be obligated to sacrifice herself for Ny, since wMwnx was a "1 (so it is not
considered Ny "7, for which one is to be 72y 9X) A7).

mooIn derives a halachic ruling from this:
= 11992515 721y NO0Y N2 NINAVY IRV NAY 0N 139329 NN T2 TION)

And because of this (that the 7%°2 of a "1 is not considered a 7X°2 [of NY "MH]),
the n''% permitted a Jewish woman, who converted (out of her faith), and a

gentile lived with her; the n"3 permitted -
= 99NV D295 12 ININD NNPPY

To have that gentile retain her as a wife, when the "3 converted to Judaism, and

she too returned to her faith -
= 19N NNAD NNNT 2981 NNAA 129192Y 1NN Hyab TNN 9199199 729W N4

For the rule of 2% 7nxy ®pa® 7nx is not applicable by the mx2 of a ", for his
X2 is like the n18%2 of an animal.

In summation; the view of the n"1 is that 7X°2 with a "1 (while it is forbidden) is not considered a
sufficient 7x°2 of N1y 17°3, that would require 72v° 9X) 377> (even if the woman was married),"
and would not forbid her to marry the 712 (the "), even if she was 11%72 .

° On the '} Ty there, 127 said in the name of 73 ' that if the sin is performed in public, then even for an 79p 772y
the rule is 72y YR 3177 (otherwise it is a "1 217°1). The Xn3 asked, so how was 7o permitted to be with wywny, for
there it was a X°0719. The X3 answered that 7noX is considered 07w Ypp; meaning that she (as a woman) was
passive in their relations.
10 However (if not for the fact that she was 09w vp7p) she should have sacrificed herself on account that it was
X°011193, since that is a awn 712°1 and requires wo1 n*on even for (™1 nX*2 which is [at least]) an 7%p 77°2V.
' The woman was married to a 787 at this time (he did not divorce her [yet]).
12 The rule is if a married woman (willingly) had extramarital relations, she is subsequently forbidden to be with her
husband and the adulterer. Here too since she was married (to a P87w°) when the *13 was %Y X3, so seemingly even
after her husband divorced her she should still be 770X to the %12 (the "3). However the n"3 permitted her to marry
the convert who was 912 her while she was married to the SX.
13 Therefore there is no need to say that 70> 09 ¥p1p 7N0X in order to justify how she lived with w1 Mwnx.
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mooIn presents a dissenting opinion:
= NY¥AY NHONI 02299 T2IY NNA TP TY NNT 29791 12 PN 139299 NI PN)

And the 2''2°1 does not agree to this ruling of the n"1 that the " (who was %312
her) is 7N to her, for a woman becomes prohibited to her husband through the

782 of a " (if she was 71 willingly) -
= 19118199 NIINT NI 9INTD

As the X7 states here, ‘for there are niX1Mp’, who are 11¥72 7m and therefore we
cannot tell them ¥ onX. It is apparent from the X723 that they would become MORX to their
husbands since they were 11¥72 7117 with the 7737 —

mooin offers an additional proof that a woman who was 17¥72 7312 with a "3 is 79v2% 70K:
= £53595 129N 12 NYWANIY NYNRN 23 (0w 3,9 1npY) NININNMIY NYNN P992)

And in 79»R8nw 7WKT P90, regarding a woman who was taken into custody by

gentiles, the muwn -
= NHYAY NON PNIT 1599999N

States, if she was 71 willingly she is prohibited to her husband —

moon offers a final proof that if she was %72 75¥21 to a "3 she is 7727 710K:
= 1899997 Y'N7AN NAN 1921 NTAN TYNI 19NTAN NTAN TYNI (30 91 ND102 23 9IN)

And the X3, in 7932 noon, also explains the 105 of NTaR “NTaR WKS to mean

just as I was lost from my father’s house I am lost from you (>>70) -
- 1994925 1941 NN NN NN 2981 NY¥A NYWN KY 1YY %23 NN

It is evident (from these three m»3) that regarding her husband, the 7%7p2 of a
13 is not considered like the rx°2 of a %73, (for she becomes 77v2% 7710K), and
the same rule applies to the 12 that even if he is a "3, she is 770X to the 312 as well.

The 0"2°7 responds to an anticipated difficulty:
= NYDINY NJDID NNNA NN PN NNNAY MIT PRT ) HY 9N

Even though there is no nur for a %72 and the n7X%2 of a %72 does not

14 This proof is more readily understood according to *"w15 (see footnote # 2), that *w 01X 72 W17 means that
they are permitted to their husbands. However according to n1o01n that it means that they do not require to be 101
wo1, the X3 answers that the m¥119 will do it 11¥72 which is certainly prohibited (even) according to the n"9, but
there is no proof that they are 17°7v2% n10X (see IX797).
15 The mwn there (actually) states that if she was 7wani for mws1 >1°7, she is 79¥2% 70K (See "w1 and '01n there).
16 11,7 noX.
17 This means that while she was with w1wnx she could not keep all the N1¥» as an ordinary Jew.
18 For this time 7nox went to ¥R willingly so she becomes 770X to her husband *>77.
19 The n"1 did not discuss whether she is %¥2% nanm, only that she is 9¥12% N7, therefore the 0"27 concludes that
since she is ?¥27 770K (from the proofs that were just mentioned) she must also be 93127 70K, The "3 NX°1 is either
considered a 83, so she should be 7137 770K also, and if it is not considered a X2 why is she 5¥2% 710K,
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disqualify her from 717712, and does not forbid her to her husband -
= N2 NN 2981 NINA (3,00 mnad) 1NN DY NAN P99 19999NTS

As the X713 rules in 1n»2Y Y a7 pas, nevertheless the 118°2 of a "3 (which is

compared to a 7172) is considered a 7IN®2 to prohibit her to her husband and to her 732 the
.

The 0"2°7 responds to another anticipated difficulty:
= 73 YT 2IYN IPIT DN 1D PPN 13D 55910 99N NIV NINNI NIIPIAN 99

And that which we say that the Merciful one was 7°¥71> 79 peR, that is only
regarding that he has no lineage and his children are considered like the
children of a 7713, but regarding Mo°X she becomes 31271 H¥2% 7710K even by a " NX*2.

The 0"2 offers an alternate answer how we can say > DI1IRT 172 Y1179, since it is a matter of
nay 0

= YYN NTaAY XD ODIY YPIP NON NYUNRNAY 29D 29Y DINT IND WINTHY 7599 91T 9D v
And one can say; that this is the question of 7w 21387 172 wI979Y; since the
woman is merely like the ‘ground of the world’, she is passive and does not do

any action, therefore she is not required to be 72> X1 377> even by N1y 717°3,2! only the man

needs to be 72v° X1 377 by N1 -
- ANPD BY YPIP INON 19 1D )3 P93 IWUNTI

As the X723 answered in 77912 9710 32 P99 regarding the question of =NOX XM

77 X°07779, that 9nSR was aWw Ppap, similarly there is no difficulty here by n1™y »¥3, since
the women are 22 YpIp.

mooIN anticipates a difficulty:
= 2291 1IY N9 2NN 7099 RIT N

And the reason the X there did not ask (before we answered o7y ypp), but
INOR was NP M99 (why did the X 3 ask instead X177 X°07719 NOK KiTY) —

Mmoo responds that regarding the rule of 22¥° PX1 377> by N1y ") -
= DNYY NONY NY PRI NN DDIY ¥PIP 1NIYY XIINRT 1Y NVIVST

20 According to the 0"37 that the »13 NX"1 is considered a 7%°2 to prohibit her 931391 H¥2%, so therefore having nx»2
with a 13 while married is included in N1y "19°3, where the rule is 723> %X 3177°; how can the X773 say D1IRT 1772 W17
M.
21 This X720 of a”w ¥pp is only to exempt her from 92> YX1 397 (and permit her to her husband if it was 01X2);
however when there is no 01X, a woman is equally guilty as the man and they are both 1n°» 271 for N1y "9,
22 9,7y P70,
23 This would seem to support to view of the 0" that there is no My "% by a ", not like the view of the "2
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That it was obvious to the X2»3 that we can answer that 1noX was a9 ypap and

is not required to sacrifice herself -
= 25991y YPIPT OV DIV 1D NN NN KD OYN DITIN PPIvh HaN

However regarding the ‘desecration of the name’ (that she lived with wyMmwnx

X°071192) the X3 did not assume that the reason of 2= ypap is sufficient to
allow TNOR to transgress the MOX of awn 72°1, and therefore asked how was she permitted to be

oW aw 99nn since it was 0777932 -
- 2599 QYN 919N 199N NN B9 YR 1IUN)

And the X723 answered that “1noX was 22¥ ¥pap and there is not even 2w 9.

mMooIN anticipates a difficulty:
= 1195291 NINNNP NN 26HY9 92) 79997 (0w xp ow) NNON MYN P92

And in 773%5n mx» pe5 where the X3 asks regarding ¥, ‘but she derived

pleasure from the 7952y’ -
— NN N2 DPVNY DXPT8 HEN NI NYY DIYYWA DY 1NV »WN)

And 713m° "1 answered in the name of *"2w" that the goodness of the wicked is

evil by the righteous, for he inserted filth into her so therefore she was not X102,

This concludes the X713 there. Moo explains the difficulty -
— 7500 02 YPIP VN XY

And the X723 did not answer that 5v> was 29 ¥»9p (and therefore she was permitted
to be with him) —

nvoIN responds:
= 28015905 NI NN RD NAT NNYY N901D KXY INNN 7299 XY ONNT 0IVN

Because the X7n) there did not ask, ‘why she did not sacrifice herself’; since he
did not want to Kkill her -

24 The reason why the X »3 thought initially that 271 ¥p1p can explain N1y "2°3 but not X°0771, is because it is
understood that 27 ypp does not make it entirely permissible (see footnote # 21), rather 221w ¥p1p (by 01K) makes
it a lesser 72y (than Ny "9%), and therefore there is no 21°n for wo1 non; however regarding X°0779, one is
required to be 12y YR 317> even for an 79p 7702y, therefore the X3 initially assumed that 221w vp9p is no Jn3n.
25 Since TN0OX is 09 ¥pp, she is not doing anything and additionally she was forced, therefore it is not a 7 212m.
26 The Xna there states that X10°0 (when he was escaping from p12) was ¥ 9912 (seven times), with her consent (for
she intended to tire him out [see *"w there 1°2 11"7] and kill him)
27 According to the n"3 the X3 there is understood; since >121 NX’2 is not a 7X*2 (to a certain extent) therefore the
question was, that even though it is not a X2, but it is still an 77°2¥ and she was 77°2v» *1n7, and the answer is that
there was no nX31. However according to the "2, that >331 nX°2 is a regular 770K X2, the question is not merely
77°2vn X107 R, but rather that she was 72 an 77°2y of 72y X1 A7, and the fact that she had no 7X37, does not
explain how she was allowed to do it. The only possible explanation would seem to be that she was 22w vpp, which
the X3 does not give; proving that 27 ¥p7p is not an answer for N1y *12°3, only for 71 219°1 (see vo MR 7"210).
28 Therefore, in a certain sense, she was doing an 772, by being with him willingly. See later in this msoin.
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=INNMYNY 798 NN NAYTIRT

For on the contrary &10°0 needed 73> that she should watch him in order that 772

should not capture him -
= 7929 X97N3 0WIN Z2IN0N NNAWN NN NI2aYN RIINNND XN IYITO 01N NIN

But rather this is the question of 779%2ay» X°1n» RX71; why does the 10D praise

%y by saying; ‘she (7v°) will be blessed by*' the women who are in the tent’

(because of their modesty) -
- 32m;nh N9Y MINNN NNPYY 19938 YY1 (0w 5,5 91 T2 1PV

And prx° 72 711 " in 9912 NOon derives from this 109 that a sin for the sake of 7

is greater than a m13» which is performed maw® Now -
= 19291 RINNN NAT NNV ROY N9y 117 993 DY 79999

And the X713 asks there that also by %pv it was an a»wh X9 7793y, since she
derived pleasure from the 7792y -

INIYY NN DINNY 2T NNPYY N9%AY DYV RINNN NDT UM
And the X713 answered that she derived no pleasure and she did the 92y
72wy in order to save PNw° 990,

SUMMARY

The view of the n"1 is that 7X°2 with a "3 is not considered a sufficient %2 of *1773
n1y, that would require 12y X1 3177° and would not forbid her to marry the %312
(the "), even if she was 71%72 73172, The 0"2°7 maintains that X2 with a "3 forbids
her 931291 %¥2% and the only 7n°7 by 01X is because of o2 ypIp.

THINKING IT OVER
Our case with 17372 %¥an is a case of X°0719; why did mooIn asks only on account
of N1y "%, when he could have asked that it is a X°0;719?!33

2995 71 0°uoW; the P00 reads: T72R 90R2 DWID 21Ra 20 YR DY 0WIm 7120,
30 This refers to the ManR where the 71N writes (regarding all of them) that they were in a tent
31 Another interpretation is that she will be blessed ‘more than’ the women in the tent.
32 The sinful relationship of 23 with X10°0 is better (since it was 72w?) than the mz» of the relationship between the
manR and the Max (since it was Tw? Xow), because the MR derived pleasure.
3 See "w a"nn.
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